
Frame Design 
 
 Graph the following linear equation: 
 
Y= 0x + 0 (0 ≤ x ≤ 28) 
 
Connect as you go: 
 
START… 0,1 1,0 2,1 3,0 4,1 5,0 6,1 7,0 8,1 9,0 10,1 11,0 12,1
13,0 14,1 15,0 16,1 17,0 18,1 19,0 20,1 21,0 22,1 23,0 24,1 25,0 26,1 27,0
28,1 STOP!!! 
 
START… 0,2 1,1 2,2 3,1 4,2 5,1 6,2 7,1 8,2 9,1 10,2 11,1 12,2
13,1 14,2 15,1 16,2 17,1 18,2 19,1 20,2 21,1 22,2 23,1 24,2 25,1 26,2 27,1
28,2 STOP!!! 
 
Connect the following points {Ps; When there is an arrow between two points then connect those two points 
together} 
 
0,1 ⇒ 0,2 1,1 ⇒ 1,0 2,1 ⇒ 2,2 3,0 ⇒ 3,1 4,1 ⇒ 4,2 5,0 ⇒ 5,1  
6,1 ⇒ 6,2 7,0 ⇒ 7,1 8,1 ⇒ 8,2 9,0 ⇒ 9,1 10,1 ⇒ 10,2 11,0 ⇒ 11,1 
12,1 ⇒ 12,2 13,0 ⇒ 13,1 14,1 ⇒ 14,2 15,0 ⇒ 15,1 16,1 ⇒ 16,2 17,0 ⇒ 17,1 
18,1 ⇒ 18,2 19,0 ⇒ 19,1 20,1 ⇒ 20,2 21,0 ⇒ 21,1 22,1 ⇒ 22,2 23,0 ⇒ 23,1 
24,1 ⇒ 24,2 25,0 ⇒ 25,1 26,1 ⇒ 26,2 27,0 ⇒ 27,1 28,1 ⇒ 28,2 
 
Graph the following linear equations: 
 

1. Y= 0x + 2 (0 ≤ x ≤ 28)  
 

2. Y= 0x + 3 (0 ≤ x ≤ 28) 
 
Body 
 
Graph the following linear equations use. Use the given domain when drawing the following lines: 
 

1. Y=  1x ­ 21 (24 ≤ x ≤ 28) 
 

2. Y=  1x ­ 15 (18 ≤ x ≤ 28) 
 

3. Y= 1x ­ 9 (12 ≤ x ≤ 28) 
 

4. Y= 1x ­ 3 (6 ≤ x ≤ 28) 
 



5. Y= 1x + 3 (0 ≤ x ≤ 28) 
 

6. Y= 1x + 9 (0 ≤ x ≤ 25) 
 

7. Y= 1x + 14 (0 ≤ x ≤ 20) 
 

8. Y= 1x + 19 (0 ≤ x ≤ 15) 
 

9. Y= 1x + 24 (0 ≤ x ≤ 10) 
 

10. Y= 1x + 28 (0 ≤ x ≤ 6) 
 

11. Y= 1x + 31 (0 ≤ x ≤ 3) 
 
Connect the following points as you go: 
 
START... 0,29 1,29 1,32 4,32 4,34 STOP!!! 
 
START... 0,26 2,26 2,30 6,30 6,34 STOP!!! 
 
START... 0,20 1,20 1,25 6,25 6,30 11,30 11,24 STOP!!! 
 
START… 0,11 2,11 2,16 7,16 7,21 12,21 12,26 17,26 17,31 22,31 22,34 STOP!!! 
 
START… 0,4 1,4 1,10 7,10 7,16 13,16 13,22 19,22 19,28 25,28 25,34 STOP!!! 
 
START… 6,3 6,9 12,9 12,15 18,15 18,21 24,21 24,27 28,27 STOP!!! 
 
START… 12,3 12,9 18,9 18,15 24,15 24,21 28,21 STOP!!! 
 
START… 18,3 18,9 24,9 24,15 28,15 STOP!!! 
 
START… 24,3 24,9 28,9 STOP!!! 
 
START… 27,3 27,6 28,6 STOP!!! 
 

 
 

 
 
 
 
 



 
 
 
 
 
 
 
 
 
2nd Frame Design 
 
Graph the following linear equations: 
 

1. Y= 0x + 34 (0 ≤ x ≤ 28) 
 

2. Y= 0x + 35 (0 ≤ x ≤ 28) 
 
Connect the following points as you go: 
 

START… 0,36 1,35 2,36 3,35 4,36 5,35 6,36 7,35 8,36 9,35 10,36 11,35 12,36
13,35 14,36 15,35 16,36 17,35 18,36 19,35 20,36 21,35 22,36 23,35 24,36 25,35 26,36 27,35
28,36 STOP!!! 
 
START… 0,37 1,36 2,37 3,36 4,37 5,36 6,37 7,36 8,37 9,36 10,37 11,36 12,37
13,36 14,37 15,36 16,37 17,36 18,37 19,36 20,37 21,36 22,37 23,36 24,37 25,36 26,37 27,36
28,37 STOP!!! 
 
Connect the following points {Ps; When there is an arrow between two points then connect those two points 
together} 

 
1,35⇒1,36 2,36⇒2,37 3,35⇒3,36 4,36⇒4,37 5,35⇒5,36 6,36⇒6,37 7,35⇒7,36
8,36⇒8,37 9,35⇒9,36 10,36⇒ 10,37 11,35⇒11,36 12,36⇒12,37 13,35⇒13,36 14,36⇒14,37
15,35⇒15,36 16,36⇒16,37 17,35⇒17,36 18,36⇒18,37 19,35⇒19,36 20,36⇒20,37 21,35⇒21,36
22,36⇒22,37 23,35⇒23,36 24,36⇒24,37 25,35⇒25,36 26,36⇒26,37 27,35⇒27,36 28,36⇒28,37 
 
 
 
 


